1.
Woman’s Heights are normally distributed with μ = 63.6, σ = 2.5
a. If 1 woman is randomly selected, find the probability that her height is less than 60 inches.
b. If a sample of 100 women are randomly selected, find the probability that they have a mean height less than 60 inches.

2.
Assume that can of Coke are filled so that the actual amounts have a mean of 12.00 oz and standard deviation of 0.11 oz.

a. Find the probability that a sample of 36 cans will have a mean amount of at least 12.19 oz.
b. A random sample of 36 cans is taken and has mean 12.19 oz.

In light of part (a), Is it reasonable to believe that the cans are actually filled with a mean of 12.00 oz?  
c. If the mean is not 12.00 oz, are the consumers being cheated?

